
 

 

Yellow B 
1) 

 

 

24 X 10 

2) 

 

 

2.4 X 10 

3) 

 

 

24 ÷ 10 

4) 

 

 

3.24m of wood is cut off a plank that is 7m long. How much wood is left? 

5) 

 

 

Rina went to the pet supply store. First she picked out some cat toys 

that cost £4.54. Then she selected some cat food for £3.98. How much 

did Rina spend in all? 

 

 

6) 

 

 

In a restaurant the  bill for 10 people was £134.50. How much does each 

person have to pay if they shared the bill equally? 

 

 

7) 

 

 

A football match was meant to start at 12:15, but was delayed by an hour 

and thirty seven minutes. What time did it start? 

 

 

8) 

 

 

Andy and Ben both want to buy 24 tennis balls. 

Andy goes to Argos where packs of 3 are £2 each. 

Ben goes to John Lewis where packs of 8 are £6 each. 

Who spends the least amount of money? 
 

 


